Choose the correct answer from the following:
1-In pharmacy, Drugs are available in different dosage forms as…………..
a)tablets                                                                     b)Eye drops

c)TPN                                                                          d)All of the above.
2-The drugs can be arranged according to………………………….

a)dosage form                                                          b)therapeutic use.

c)pharmaceutical drug stores.                               D)all of the above
3-In Kingdom of Saudi Arabia , the ministry of…………..is responsible about  all sectors that provide health issues to the citizens.

a)foreign                                                                     b)education.

c)health                                                                       d)all of the above.

4-The ministry of health set specific conditions for……………………
a)registration of pharmacy , pharmacy technicians.

b)opening pharmacy or drug factory.

c)authorization of practicing the job in the country.

d)all of the above.
5-There are ……………..types of incompatibility.

a)two                                                                         b)three
c)four                                                                         d)five

6-A physical incompatibility occur when………………………….

a)drug combination produces a visible change in the appearance of a solution.

b)degradation occur to one or more of the admixed drugs.

c)two or more drugs are combined & the result is a response other than that intended.

d)all of the above.

7-…………………….is considered an example of physical incompatibility.

a)combination of calcium & tetracycline.
b)evolution of carbon dioxide when sodium bicarbonate & hydrochloric acid are mixed.

c)Penicillin G & tetracycline.

d)all of the above.

8-A chemical incompatibility occur when………………………..

a)drug combination produces a visible change in the appearance of a solution.

b)degradation occur to one or more of the admixed drugs.

c)two or more drugs are combined & the result is a response other than that intended.

d)all of the above.

9-…………………….is considered an example of chemical incompatibility.

a)combination of calcium & tetracycline.

b)evolution of carbon dioxide when sodium bicarbonate & hydrochloric acid are mixed.

c)Penicillin G & tetracycline.

d)all of the above.

10-Chemical incompatibility occurs in several varieties as……………………

a)complexation                                                           b)oxidation

c)reduction                                                                  d)all of the above 

11-…………….occur when one drug loses electrons to the other.

a)Oxidation                                                                  b)Reduction

c)Photolysis                                                                 d)Complexation 

12-…………..occur when one drug gains electrons from the other.

a)Oxidation                                                                  b)Reduction
c)Photolysis                                                                 d)Complexation

13-………….is a chemical decomposition caused by light.
a)Oxidation                                                                  b)Reduction
c)Photolysis                                                                 d)Complexation

14-A therapeutic incompatibility occur when……………………….

a)drug combination produces a visible change in the appearance of a solution.

b)degradation occur to one or more of the admixed drugs.

c)two or more drugs are combined & the result is a response other than that intended.

d)all of the above.

15-………………..is considered an example of therapeutic incompatibility.

a)combination of calcium & tetracycline.

b)evolution of carbon dioxide when sodium bicarbonate & hydrochloric acid are mixed.

c)Penicillin G & tetracycline.

d)all of the above.

16-………………..is considered one of factors affecting IV compatibility.

a)PH                                                                        b)Temperature.

c)Degree of dilution                                             d)all of the above.
17-…………..is considered step used to reduce the chance for an incompatibility.

a)Solution should be administrated promptly after they are mixed.

b)The number of drugs mixed together should be high.

c)Each drug should be mixed partially after it is added to the preparation.

d)no one is true.
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